Efficiency vs Dxy(PV)
L

0.8]

0.6]

efficiency vs dxy(PV)

0.4

0.2]

Ratio
[

055 = 20 15 10 O JO 15 20 25

TP dxy(PV) (cm)

—*— DQM_mkFit_TThase

I Efficienc] — DQM_mkFit_TT_retrainOldFiles125_v2_prelimwpP

bkl R 3 _5 i
1 : : : : : :
oo b LY ; || |\| ||\|

=1-0.8-0.6-0.4-0.2 O 0.2 0.4 0.6 0.8 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

T
.
[
.

efficiency vs dz(PV,
o
o '
L

o
ey
T

................

1
»
T

.................

o
)
T

Ratio
-

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

=

o
)
T
.

efficiency vs dz(PV)
o
o)
P
-
— N
e
=
FEEC SEEEERE
=2
==
i
i
1 ]

...............................

o
n
T

................................

o
)
L

Ratio
e &
T
‘
i .
.




	Contents
	Page 1


